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Registration Number: ................. T

THE OPEN UNIVERSITY OF SRI LANKA ‘

B.Sc. /B.Ed. Degree Programme, Continuing Education Programme
APPLIED MATHEMATICS-LEVEL 03
ADU3201/ADU3218/ADE3201- BASIC STATISTICS

NO BOOK TEST 2023/2024

Date: 19.08.2023 Time: 01.00 p.m- 02.00 p.m

Instructions

* - The examination is of One hounr duration.
 There are 20 multiple choice questions. Each correct answer is given 5 marks.
° Write down your registration number at the top of the right hand corner.

* Answer all questions. At the end of the test, handover the paper Wlth correct
answers underlined.

» Non-programmable calculators are permitted.

Underline the most suitable answer.

(1) The measurements of spread of the data points around the central point

is called:
(a) Measures of dispersion (b) Measures of central tendency
(c) Measures of skewness (d) Measures of kurtosis

(2) Given below the four sets of observations. Which set has the minimum variation?

(a) 46, 48, 50, 52, 54 . (b) 30, 40, 50, 60, 70
(c) 41, 43,47, 50, 55 (d) 48, 49, 50, 51, 52

(3) The mean of a diStrlbUthn 1s 14 and the standard deviation is 5. What
is the value of the coefficient of variation?

(8) 37.5%  (b)28.0%  (c)35.7%  (d) None of the above answers is correct

(4) Which of the following statement/s is/are true about outliers in a data set? )
A: The mean value of data set tends to be unaffected by the presence of outliers.

B: The interquartile range of a data set tends to change significantly when outliers
are included in the data set.

C: Data sets that contain outliers are generally preferred over data sets that do not
contain outliers.
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(a) Statements A and C are true. Statement B is false.
(b) Staternents A and B are true. Statement C is false.
(c) All statements are true.

(d) All statements are false.

(5) When the data in the sample do not have equal importance, we calculate the

(a) Trimmed mean (b) Weighted mean
(c) Arithmetic mean (d) None of the above

(6) Which set of data has a mean of 15, a range of 22, a median of 14, and a mode of
147

(a) 14, 28, 14, 15, 6 (b) 14, 31, 15, 14, 9
(©) 25, 15, 14,3, 7 (d) 3, 14,19, 25, 14

(7) The mode of mathematics exam marks of the grade 11 class was 94 Which of
these statement is correct?

- (a) Half of students in the class score below 94,
(b) 94 is the highest mark in the class.
(¢) More students received a 94 than any other score.

(d) Average mark of a student is 94.

(8) The measure of dispersion that is influenced most by extreme values is
{a) Variance {b) Range

" (c)Interquartile range (d) None of the above answers is correct
(9} If a distribution is abnormally tall and peaked, then it can be said that the
distribution is:

(a) Leptokurtic Distribution (b) Bell shaped Distribution

(c) Platykurtic Distribution {d) Mesokurtic Distribution
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(10) Since the mode is the most frequently occurring data value, it
(a) can never be larger than the mean (b) is always larger than the median _

(c)is always larger than the mean - (d)None of the above answers is correct

(11) Which one of the following measurement does not divide a set of observations
into equal parts? ‘

(a) Quartiles | (b) Standard Deviations

{c) Percentiles ‘ (d)None of the above answers is correct

Consider the following data set

5 712 M4 14 14 18 21 22 23 24 25 34
34 37 47 49 64 67 69 125 192 220 453 483

Answer for the questions (12) — (14) using the above data set,

(12} What are the lower and upper quartiles,
(a) 14, 67 (b) 18,69
(c) 18,67 (d) None of the above answers is correct

(13) Underline the mild outliers -
(a) 192,229 ‘ , (b).192
(c) 7,192 o (d) None of the above answers is correct

(14) Underline the extreme outliers
(a) 5,483 (b) 229,453,483
(c) 453,483 . {d) None of the above answers is correct

(15) Find the 10% trimmed mean for the following data set.

12232391621

(a) 2.4 (b} 3.5 {c)2.6 (d) None of the above answers is correct

(16} 4,B, C are three sets of data:
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Which statement is true:

(a) Mean of 4 = Mode of C (b) Mean of C' = Medjan of B
(b) Median of B =Mode of 4 (d) Mean, median, mode of 4 are equal

Following Graph represent the Relative commutative frequency polygon for
weight of 250 students.

Relative commutative frequency polygon
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Answer for the questions (17) — (19) using the above graph,

(17) Inter Quartile Range (IQR) of the data is
(a) 20 (b) 30 (¢} 50 (d) None of the above answers is correct

(18) 90 th percentile is :
(a) R0 (b) 60 {c)70 (d) None of the above answers is correct

(19} How many students are weight in Range of 50-80
{(a) 50 (b) 60 ()70 (d) None of the above answers is correct

(20) A bag has 5 white marbles, 8 red marbles and 4 purple marble. If we take a
marble randomly, then what is the probability of not getting purple marble?

(a) 0.47 {b) 0.76 () 0.23 (d) None of the above answers is correct
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